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Praktikum EIl. Schaltungen Versuch 4
Aufgabe 1.2 a

NS NS

.dc Vvar0110mV
.model 2N2222 NPN(VAF=90)

Vvar

ov

--- C:\Program Files\LTC\L TspicelV\Praktikum 4-1 05 06 2011 Aufgabe 1-2.as¢c ---



V(n002) Ic(T1)
1.5V 1.0mA

T B W,
13V /; I S e - e  0.8mA
1.2V f rrrrr | ~ e B B 0.7mA
v S ot - : T 0.6mA
10V e e — ——— — - osmA
0.9V ; - - e s e e -~ 0.4mA
0.8V  , e - . + . | ,= ' S w1 B 7.
07V | , - : e e , -~ 0.2mA
06V — R . e A L . 0.1mA
05V — . ’ j/’ e e ~ 0.0mA
04 f - /,~ﬁ e o - e -0.1mA
0.3V o //*ﬁ - e - -0.2mA
02v e : e e : = -~ -0.3mA
OAV; //"/ | , , : S S — ~ .0.4mA

0.0V -0.5mA
00V 01V 02V 03V 04V 05V 06V 07V 08V 09V 10V



Praktikum EIl. Schaltungen Versuch 4
Aufgabe 1.2 b

' Vs
&) o
15k
15V | | |
| Vvar
Tref L T T

2N2222 -~ 2N2222
oV
Lo we s h2U
RE1 RE2 S
{Rvar} | {Rvar}

. ’ | el
N N4

.dc Vvar01 10mV
.model 2N2222 NPN(VAF=90)

param Rvar=0 o woadoqt oty
.Step param Rvar list 0.01 100 500 1k

-

--- C:\Program Files\LTC\L TspicelV\Praktikum 4-2 05 06 2011 Aufgabe 1-2.asc ---
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0.1v /
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0.0V
0.0V

V(n002)

0.8mA
,,,,,,,,,,,,,,, 0.6mA
| : - 0.4mA
S NSRS NI i SO N 0.2mA
0.0mA
,//
a -0.2mA
/
// ’/
y e e e A R e -0.4mA

0.1V

0.2v

0.3V

0.4v

0.5V

-0.6mA

-0.8mA

-1.0mA

0.6V 0.7V 0.8V 0.9v 1.0V



Praktikum El. Schaltungen Versuch 4
Aufgabe 2.1 Form A

o~

RC1 RC2
2.7k 2.7k VS1
+
= N
5V
T1 | T2 D
2N2222 2N2222 _ _
--- Operating Point ---
p3
VS2 V(p1): 3.54524 V
RE1 * V(p2): 3.54524 V
— V(p3): -0.757115 V
3.9k oy
- op I(T1):  0.5388 mA
‘ Ic(T2): 0.5388 mA
.model 2N2222 NPN(VAF=80) I(Re1): GEes

--- C:\Dokumente und Einstellungen\Administrator\Eigene Dateien\EST\Praktikum4_3.asc ---



RC1 RC2
a 2.7k 2.7k VS1
+
A N
5V
T T2 D
2N2222 2N2222
x(p; ):
T3 V52 V(p3)
2N2222 V(p4):
R2 R1b
- V(p5):
5V
RE2 Ic(T1):
470 1c(T2):
Ic(T3):

Praktikum El. Schaltungen Versuch 4
Aufgabe 2.1 Form B

.op
.model 2N2222 NPN(VAF=80)

--- Operating Point ---

3.75243 V
3.75243 V
-0.75307 V
-3.78581 V
-4.55729 V

0.462065 mA
0.462065 mA
0.932957 mA



